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1T 4959FK #X (£ H w1) 18156687 16 1907# Lt BN (N F &3) DNS
2 S51134AX Hth (88 BE & F2) 18.25.3170 17 1915 F & ' B OS1) DNS
3 4989 BHFH HE(E X H2) 1814146 18 19095 wHE (/N H H3) 21.31.7192
4 5059 fiRfE XK (F I &H2) 18439173 19 S5 RAB/NEK (%8 &E & F3) 11.26.767
5 2087 BH W@ (RERHEST1) 10495779 20 5129 K%x RE (£ B & 1) 19.02.3975
6 4894 % H EL (BEsAES2) 18.03.095 21 4904 Rt £ (BHEuAES 1) 17.46.63 4
1 4902 kN EXE (ZBE#ALAES 1) 18.23.229 22 48 A HEAR (BE#suALAES2) 17.37.682
8 1865FK —E (&M W &1) DNS 23 4896 M B (BEaMNESF2) 19.15.64 76
9 4964=E EBEX (£ H H1) 18.40.4972 24 4983 %8 KB (H X &H1) 18.54.88 14
10 1 EF EX (DN B &2) DNS
11 5241 85K Ht (LWhEFEF2) 18.36.53 77
12 5142 KA —E (LbE#Hées1) 11.38.973
13 5140 EFEMEXE (WhE#em2) 18.21.03 8
14 5078 %2 KE(E I w®&1) 19.24.15 17
15 51481 =% (LWhE#es1) 10.31.01 78
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2 5026 R EF (LWhEXRES2) DNS 17 1864 liw fiz (& W =1) 17.11.57 4
3 2096 B4R B (ZHERBHAS3) 1/.46.51 74 18 4903 #I #x (LBE&AERS 1) 17.23.59 70
4 2084F L KM (RBERHBEBTI1) 16.38.027 19 522FKRK KR (LWbhEHFEF2) 17.25.32 11
5 5001 HFARK =B (m A H2) 16.59.982 20 5134 XN =F (LWhEHRES3) 171.16.926
6 5044%F# Mz (F I ®&3) 1/.14695 21 4893 kB # (BEiAESs2) 17.18.057
1 1866 /i ANTE (B Wb & 1) 17.41.2873 22 2086@ill EFE (ZHEFHSF1) 18.08.23 78
8 49668 K BRFE (£ W S1) 17.26.1472 23 514751 3} (LWpE#HES 1) 18.36.51 20
9 4958 # K (£ W S1) 18.32.5379 24 49478 #wAH (£ ®W S2) 17.20.818
10 51058R:ZFE #{E (8 B & F3) 1192761715
11 5149FB E& (LWhE#HEes 1) 17.20.999
12 191488 EFE (N H &1) DNS
13 1906 7 1L 2/ H ®3) 18.01.6577
14 5183 ER ®=IE (RBXEFES1) 19.50.63 22
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2 9078%HE Bt (IE X 2 K4) DNF 17 5249 #2H KE (LWhLEFHEF1)
3 2099 Kk#H REE (RHERBHS3) 17456679 18 4969 /MHFE—H (L W =1)
4 21008 R{C (RERBHAS3) 16.47.7977 19 1908 &g =# (NN F H3)
9 2098 f# % B(ZBERHES3) 16.26.936 20 49678l X (£ W S1)
6 5003 Ff KE(EHm A& &3) 16543574 21 204 ##H KR (TBEHS2)
1 5027 & Bz (LWhERFESF2) 16.40.879 22 2298t RBX (%8 & & F4)
8 1872FH MM (B L =2) 16.21.265 23 5150% 8 WX (LWhEHRES 1)
9 D523F L MF (LWhEHFERF2) 16.01.512
10 4928 & & B(2 W S3) 16.19.994
11 4943 R 1L ZzZ (8 W =2) 11.16.13176
12 4933 #8H ZE# (£ #H &3) DNS
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14 2092 %# MR (RBWEHS2) 171.30.82 78
15 9100 £ ma (R B BE H ) 16.41.98 10
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344 2.54 5.53 8. 58 12.09
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18.22.96 21
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5 5166 K FEx (WbE#EE 1) 104088 2
6 2430HN HE (REEHSI) 111822 7
7 2031 BiF EHR(RERHBES1) 114932 15
8 2436 niE BR (RERHBES2) 104369 3
0 4970 EBETEH (L H HI1) 112250 &
10 5156 EH KKk (LWVhEHRESE3) 112829 9
11 5167 XF ImF (LVLERES 1) 115527 16
12 5244 FHh HAH (LWHEFHZ2) 105976 5
13 5165 M&®n B#H (LWhEHREE1) 114105 12
14 5035 & B (LWhERES 1) 11.36.60 17
15 51631 A LR (LWhEHREE2) 114524 13
16 5036 #& JII F(WvbEkhkFESZ 1) 113365 10
17 5190% % & (REXETH2) 130224 18
18 4956 KR H8h (£ W H2) 133799 27
19 5197 #ikmEF (RBXEFESF 1) 131636 20
20 5194 EM MR (EEBKRSFH 1) 134410 22
21 5247 xR ®E (LWhEHFHRF2) 131232 19
22 2437 FH XA (RERHS2) 140155 23
23 2438 #* 8 E(RBERHSZ2) 140380 24
24 4919 FH LR (BEHHAES 2) 114860 14
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300 )il XKt (i &K E T ) 1079
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1 9020 & & = (R B LE£6) 3.21.55 7 15 9018 =k EN (F [E LE6) 3.49.85 712
2 9028 /NiE K& (# H MN6) 3.33.96 3 16 9056 EHE KXiF (&F &KX B L£5) 4.07.33 717
3 9054 i &R ZF (& X B L£6) 35002 73 17 9017 XH #(FE B L6) 3.53.98 76
4 9053 Rk EHE (m A B £6) 3.40.15 4

5 9021 &Nl B3 (R B E£6) 3.42.88 4§

6 9025 #t¥ &G (R B L£b5) 3.43.58 6

7 9022 24 ;M (R B L£6) 3.26.46 2

8 9055 Xk KB (F X B E6) 3.47.58 10

9 9024 5H WE (R B L£6) 3.52.76 15

10 9023 & HKXK (R B L£6) 3.44.33 7

11 9019 B E® (FF M L£5) 3.52.58 /4

12 9027 = @ABI (R B LE5) 3.44.88 9

13 9026 5+ HE (R B LE£5) 3.44.63 8

14 9016 #T1E HKX (F [E LE£6) 3.47.66 77
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2 9007 £ & T (% [ LE£5) 25597 7 2 9003 #H#F R (R B LE6) 24814 2
3 9004 £ EFtk (R B E£6) 2.58.20 2 3 9057 ithEH MBEFE (&% X BE E£6) 2.50.30 2
4 9013 &8 2 (F B L£5) 30641 6 4 9001 #E E#7HE (R B L6) 30445 7
5 9005 E=FHFREFE (R B L5) DNS b 9002 2 BB (R M L£6) 25046 4
6 9014 ##H #HmE(F & L5) DNS 6 9011 #2 #fE (F R L£6) 3.00.34 6
7 9008 ZTmRx EHM (R B LE5) 3.15.70 & 7 9058 KR ®A7E (% &~ P E£6) 2.53.28 5
8 9010 B % (R B Lb5) 257.62 2 8 9012 R MK (¥ [E L6) 3.10.37 &8
9 9009 BAX EZE (R B L£5) 3.12266 7 9 9059 &E# H}F (% X~ B E£5) 3.15.30 9
10 9015 ¥ BA#F/ (< = mb5) 3.04.04 4
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5566 [ I
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5970 /v 2 0
6002 —/ BWEZE
5440 5 H WX
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(# B 3| t2) 13.45.4577 17 5899 HAABAER (2 ¥ $2) 15056925
(£ — ®H3) 1218145 18 5898 &EE BHF (£ & t2) 14.29.70 21
(hR&AE@mHB2) 13.52.9979 19 5897 HJIMEF (& ¥ 2) 15289127
(# B 1) 12.38.309 20 9061 #5AK =# (4 ®@B H3) 13.32.21176
(2 % 1) 11.33.633 21 5977 %% BB (4 B = 1) 13.47.3678
(B % H2) 11.34504 22 5933 Mgk %% (# B H3) 1438222
(& % 2) 11.31.902 23 9062 #i##%#1fc (4 B H2) 15029024
(B8 % t2) 1222376 24 5976 bl ®7E (4 B =] 1) 14.33.5822
(2 % H2) 11.31.217 25 5643#IL (4 (@ & & 1)DNS

(2 % 1) 13.01.0873 26 5637# A +ti (m A &2) 16037428
(= % 2) 13.01.3174 27 6089 enEARE (/N NIl ®3) 12.41.89 10
(B % ti1) 12.31.678 28 6007 &MEZXX (2 % — $2) 15.20.912
(B % 1) 1225107 29 6030 HWMHMY (4 & = H3) 13.28.84 75
(hsR&ddh2) 12.42.00 77

(hR&dd1) 12430572

(hR&a®@mb1) 14.20.96 20

[ 1000om [7] 3.49 [2000m| 9 [ 7.41 |

(9 & — ®2) 10.52.377 16 9031 k@ f£% (Wb = RH2) 12.06.36 76
(1 % — &3) 11.01.005 17 60634#A +ti@ (W M = 1) 12.32.88 2
(hR&@mBm3) 12228222 18 9030 /hE T (LWh =R 2) 1208632
(7 & = & 3)DNS 19 6000 #iH #5 (4 % — $2) 11.50.05 4
(£ = ®2) 10.56.712 20 600358 T #m (4 %k — H2) 11.15.839
(WhERd3) 11.12.838 21 9045 SABHEFE (2 %k — $3) 12.20.1221
(Wh T Rd3) 1207.8479 22 5567 LEHHET (hRamP2) 13.38.6028
(Wh & Rm2) 10.57.483 23 5565 & HE (hR&MmH3I) 13.49.8029
(7 & — ®2) 11.07.477 24 6077 AE E (LWhEFEHR 1) 11.41.3413
(hR&AE@mAB2) 11.34.9177 25 5900k HZ (%&£ B $1) 12.02.66 75
(£ = ®3) 11.36.6172 26 9073 BJIE< > (F # H2) 12.06.39 77
(# M ]| $2) 1059.194 27 9075%® ®HE (F H H2) 1250742
(9 & — ®2) 11.32.7210 28 9076 KfIEEE (F # & 1) 12.06.66 78
(£ — ®3) 11.06.006 29 9074 &R F# (F #F $2) 12.36.0025
(Wh & RH3) 122506 23 30 5867 EHZF H*A (Wb &Rt 1) 13.17.5027
[ 1000m [ 2] 3.34 [2000m] 1 | 7.17 |
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1 9080 #£</KMA (R M = F2) 11.15.63 4 19 9064 #5K D (# B &H3) 11.09.847
2 5879 A KB (% & H2) 11.41.37 7 20 5607 #aAK & (E BH 1) 12.42.19 19
3 5880 FE KE (#& B &H2) 12.09.12 72 21 5628 £ EHH (/M &= F1) 13.28.68 4
4 9072 A E4&£ (F #H &H2) 11.10.03 2 22 5629 LI & (@ & 1) 13.28.08 23
5 9087 & BABE (M 8 = &H2) 11.15.48 3 23 5627 #iK M3} (m A 1) 13.29.41 25
6 5474 BE&E BE (F = $3) DNS 24 5626 FE B (™ A& 1) 13.32.48 2
7 9082 ¥k HE (R M = &2) 11.42.57 & 25 5631 HE £ (@@ & F1) DNS

8 5482 #H BEA (F = ®H2) 11.41.24 6 26 5993 #JII =3 (2 %k — &1) 11.46.28 9
O 5882 HEE E (& & c2) 11.59.90 70 27 5987 KAE %= (4 £ — 1) DNS

10 5921 FILUEAXE (# B & 1) 12.40.49 78 28 6033 EAINA— (7 & = 1) DNS

11 5915 FEHRA (# B  &1) 12.23.43 75 29 6022 K 24 (2 £ = d1) 13.24.32 22
12 5601 k@& =¥ (2 %  &1) 11.39.21 § 30 6021 % KE (7 k£ = t2) DNS

13 5955 g Ed@ (# H ¥ 1) 12.54.19 20 31 6018 XKFIHZEX (2 % = d2) 13.02.88 27
14 5953 ®B HX (# H = $1) 12.21.99 74

15 5952 &0 ## (# B = & 1) 12.37.07 17

16 5606 MR mmE (E ¥ 1) 12.08.72 717
17 5604 & #Bsk (E % 1) 12.32.85 76
18 5602 &£t —# (& % &1) 12.09.75 13
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5456 Ak EZ (F H3) 11.29.0220 19 5988 /N¥r fith (20 %k — 1) 11.11.17 170
JT

5451 & x& (F = ®&3) 12.27.3128 20 9067 Ff)& =& (4 H F2) 10.44.093
5452 {&£@ B (£ = d3) 11.18.36 73 21 5876 ®A shpk (#£ & F3) 12.08.74 27
5454 Tk B (F = H3) 11.05.368 22 5956 iEHF & (4 B = A1) 11.38.2722
5459 kA HEM (F = &H2) 11.32.4627 23 9039 XF —& (/ JI 1) 11.23.7117
9042 K¥ Fsh (/N NIl A 2) 11.01.896 24 5887 KFEBEERED (£ & 1) 11.55.77 24
9052 O BEA (/v )i & 2) 12.08.53 26 25 9040 BEEMRFEFA (/N NI H 1) 11.23.40 76
6091 /N JEX (/N Il A 2)  11.26.11 78 26 5842 K& BN (LWbh E R P 1) 11.52.90 23
9044 )l /A (/)i " 3) 10.44.66 4 27 9068 #iK )l (#E H R 2) DNS

9043 EAJIME=E (/N )il wH3) 11.02.677 28 5484 f&8F R (£ = H2) 11.18.58 74
6090 PI&ER A (/b m4) 11.21.29 75 29 5632 XfEZR (® & H1) 11.10.55 9
6087 HREFEEIAK (/) F3) 10.21.26 7 30 5878 FH#r M (£ B H2) DNS

i

n

6081 ;IA XKZ (/M NI &H2) 10.37.24 2
9041 B0 w4 (/A NI &2) 11.56.55 25
9077 REE=XRER (F = d&3) 11.12.70 77
9066 =@k K (# HB &2) 11.28.00 79
5883 K S (28 B F2) 11.14.14 712
5889 falFr X (£ W& F1) 11.00.595
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(4 B $2) 10.41.769 19 5497 A& %% (£ = d1) 11.29.03 24
(Wh ERP1) 10531777 20 5598 $4K #REE (EH %  2) 10.26.253
(# @B $2) 10.23.332 21 5608 #hk A (E H 1) 10.26.44 4
(F # $3) 10.20.165 22 5464 Btk ¥AE (£ = 1) 9582317
(M 8 = f2) 11.11.1627 23 9032 £%H & (£ = F3) 12.16.00 29
(4 B $2) 11.20.012% 24 9033 )il %EE (F£ = 3) 10.50.44 13
(hsk&FP2) 12.18.2430 25 9034 461l #£% (£ = 2) 11.42.3826
(WhxR$1) 10.57.7578 26 9035 B#H KW (£ = $3) 12.08.3227
(M 8 = f2) 10.52.6476 27 9036 #6k BAX (E£ = 3) 12.11.8628
(v g 1) 10.30.79 7 28 9037 B | (F = f3) 11.06.50 20
(WhER$2) 11.35.0925 29 5453 ki B3k (£ = 3) 10.48.35 77
(M 8 = f2) 10.50.6374 30 9038 A # (£ = F3) 11.06.1879
(7 % — 1) 10.52.34 15

(WhZ=Rt1) 11.16.8522

(22 w5 2) 10.43.88 10

(4 B ®| 1) 10.48.53 72

(4 B ®| $3) 10.40.55 8

(7 % = 3) 10.29.436

[ 1o00m [1] 313 J2000m] 22 | 6.38 |

(2 % 3) 938087 19 5986 th¥ Fi#x (4 % — $2)  DNS

(2 % $3) 9558777 20 5406 HE BA (F — F3) 10.10.50 76
(2 % $3) 9550470 21 5945 /48& Bt (4 B = $3) 10.01.68 72
(WhxR$2) 950605 22 5579 $2 @A (hR&FP1) 10251720
(3 A — th2) 040522 23 9065 BM %4+ (4 ME $2) 10.20.74 79
(Wh ERh2) 10.06.57 714 24 6088 £ @+ (/1 NI & 3) 10.46.56 24
(WhER$F3) DNS 25 9071 #iE & (F H H3) 10.26.84 27
(hamep2) 943993 26 5412 0@ (£ — F2) 10.34.68 23
(2 % 3) 948614 27 5838 HAGAH (Wbh =R 1) 11.27.2225
(/v h3) 953549 28 5985 KEA HE (4 £ — H2)  DNS
(WhER$1) 10.20.56 78 29 5616 B —F (F # H2) 10.27.5222
(M # = $2) 952597 30 5572 #5<K Bt (fhR&RBFP2) 11.52.532
(= % $3) 9.51.646

(hsR&P1) 10.06.73 75

(£ — $3) DNS

(M # = h2) 9.52.908

(M 8 = f2) 10.03.90 73

(2 % G2) 10.16.34 17

[ 7000m [ 1] 3.07 [2000m] 1 | 6.23 |




